MULTIPLICATION: DECIMAL NUMBERS (H - SET 3)

Name:
CHALLENGE
Time: Score: y—
511 0.009 x 31 = 5560 1.1 X 3.08 =
2) (0.4 x 474 = 57 0.003 x 0.181 =

543) (0.01 x 110 =

) 5 X 0.0313 =

55 (0.001 x 315 =

546)  (0.0008 x 0.178 =

7 (0.0003 x 39 =

548) 1 x 100 =

59) 6 X 3.9 =

550) 1 x 2.37 =

551 0.0008 x 0.0398 =

552)  ().0008 x 0.6 =

530 (0.1 x 0.171 =

559 0.0006 x 0.079 =

555)  (0.0005 x 31.6 =

Mathematics: Multiplication - Level 6 - Horizontal - Set 3

558)

559)

560)

561)

562)

56:

w

)

564)

565)

566)

567)

568)

569)

570)

20

0.0005 x 4.6 =

1.1 x 0.235 =

0.8 x 0.0411 =

2x 214 =

0.009 x 0.471 =

0.11 x 4.62 =

0.01 x 0.34 =

0.5 X 38 =

0.07 x 0.104 =

0.5 x 107 =

0.0007 x 0.0472 =

0.0003 x 398 =

0.4 x 0.458 =
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